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QUESTION 1

While assessing an environment for VMware Cloud Foundation, it was relayed that the enterprise is expanding their
global presence with multiple data centers in order to simplify their IT operations without increasing their IT staff 

How can this goal be achieved? 

A. SDDC Manager Cluster 

B. Leverage L2 VPN 

C. Centrally via 1 LCM Deployment 

D. Multi-Instance Federation 

Correct Answer: C 

 

QUESTION 2

A system administrator noticed that a third-party certificate has expired in one of the VMware Cloud Foundation
component resources. The administrator must replace the expired certificate. 

Which pre-requisite step is required for this process? 

A. Verify that the certificate is configured for basic authentication. 

B. The Certificate Authority configuration files must be configured and packaged in .tar.gz file. 

C. The valid Certificate Authority server must have the correct roles installed. 

D. Ensure that the bring-up process is complete and successful. 

Correct Answer: B 

 

QUESTION 3

An administrator has been tasked with enabling north/south routing and the consumption of additional network
servicesby deploying an NSX Edge Clusterinto a VMware Cloud Foundation deployment The following information is
available: 

1.

 There is only one Workload Domain. 

2.

 The Workload domain contains two vSphere Clusters. 

3.

 One of the vSphere Clusters is a Stretched Cluster 
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4.

 All hosts within the Workload Domain are identical. 

5.

 The physical network uses both the Border Gateway Protocol (BGP) and Bidirectional ForwardingDetection (BFD)
protocol 

Which statement is true when considering the deployment of an NSX Edge Cluster in this situation? 

A. The NSX Edge cluster cannot be deployed onto the Stretched Cluster. 

B. The Small form factor must be selected when deploying the NSX Edge cluster. 

C. The Default profile type must be selected when deploying the NSX Edge cluster. 

D. BDF must be selected when deploying the NSX Edge cluster. 

Correct Answer: D 

 

QUESTION 4

An administrator has deleted an NSX manager application from the management domain by accident and now needs to
restore the NSX Manager application as soon as possible. 

Which three steps are necessary to accomplish this goal? (Choose three) 

A. Refresh the SSH Keys that are stored in the SDDC Manager inventory 

B. Deploy a new NSX Manager appliance. 

C. Restore a known goodconfiguration. 

D. Download and decrypt the encrypted backup file from the SF IP server 

E. Create a JSON file containing the NSX Manager configuration, and insert an API access token 

F. Configure the new NSX Manager appliance with SFTP server settings. 

Correct Answer: CDE 

 

QUESTION 5

What is the benefit of placing vRealize Suite I ifecycle Manager on the cross-region Application Virtual Network? 

A. vRealize Suite Lifecycle Manager cannot be placed on the cross-region network as it is reserved for Workload VMs
only. 

B. SDDC Manager uses the cross-region network to deploy vRealize Log Insight and vRealize Automation Proxy
Servers, and this is not configurable. 

C. vRealize Suite Lifecycle Manager can be deployed in cluster mode 
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D. After a recovery, an administrator can continue using the same IP address, DNS record, and routing configuration 

Correct Answer: A 
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